= &4
A & 0O & W <9 AN
SAAT 20104
olertsE o =4 1 3
£ AN EH
3 Y FREEESLEAN S )
A RE-E = R L Of &k o IIE Ollaed HRE & & 2 7
=5 Al 4,450,000 3,100,000 1,350,000
wSHY 4,450,000 3,100,000 1,350,000
e otd 2 NEEAN =HE 4,450,000 3,100,000 1,350,000
FAUAE HE(FUHH2ISHEA) 1,106,359 1,078,844 27,515
SEFIY #F 1,106,359 1,078,844 27,515
201 fet23] 13,040 14,600 21,560
13,040 14,600 A1,560 (01 AR 2teld] A 1,560
O gergh| 560
Ode3ng & ZNg(0aEA)
ZE 4,440,0008 - J1F 5,000,0008 = 560
0 exe 21,000
O 8Ot AADEIE SNLX2 (A=)
23 2,000,000& - J1& 3,000,000& = 21,000
202 O4H| 5,130 5,400 A270
5,130 5,400 A270(01 =LHOIHI A270
O REFEXE NESS(0a4ED)
ZH 3,330,0008 - JIF 3,600,0008 = A270
207 &1 oH bl 130,000 80,000 50,000
130,000 80,000 50,000| 01 & &< 50,000
O =38 +3aE ZAZY
Z& 130,000,000& - J1& 80,000,000& = 50,000




DEHAXD
DE O U DEXA =
EXAL HE(ZURSHELSIH) (Gl & J)
SACEHHM O MR D2 Off A o JIE Off Aty HR=2 &4 E 2
401 Al &EHILL04] 864,889 885,544 N 20,655
859,400 880,000 A20,600| 01 Al&H A20,600
[ ZHEXE AE2 HHI(0AR2)
23 179,400,000& - J|& 200,000,000 = A 20,600
5,489 5,544 AB5103 Al ECHE] AbB5
0 ARR ZEZUE ZAQ(OARZ)
AE 5,489,0008 - J|A 5,544,000& = YANGY!
EY FIENUEZ(Z=IE2SIELESA) 357,876 378,961 N21,085
SY =X o 357,876 378,961 A21,085
201 LBet2AH| 248,241 259,241 A 11,000
98,440 109, 440 A 11,0001 01 AP 22| ] A 11,000
[ YetagH| A9,200
O LEEINACHY S22 K00 (0 A=)
215 3,000,0002 - JI& 4,000,0008 = A1,000
O 92Es N2 DA OOI(OMQD;)
2 & 2,000,000& J|1 & 3,000,000 = A 1,000
O ALY O 282 QOI(MAEY)
23 2,000,000& - J|& 3,000,000& = A 1,000
O SYHZHI CHE0HHE S01(0AHE )
23 4,000,000& - JI& 5,000,000 = A 1,000
O AT D (0 AR
A& 2,000,000& - J|1& 3,200,000& = A 1,200




DEBF Y
DS oF L DEIN =HY
=Y LS (FAT2SYSEH) (Sl &)
SNBSS 0l ey S[E-RVINE" HREZ N
O SHEIT o 222 SO(MMED)
28 6,000,002 - JIE 8,000,0008 = A2,000
O SABXTY(HAE)
28 2,600,008 - JIE 3,600,0002 = A1,000
O 40 o H2AT S (MLEY)
248 2,000,008 - JIE 3,000,0008 = A1,000
0 2xa A1,800
O 82ty o =X AQXE AX(OIL4E)
2 4,000,008 - JIE 4,800,0008 = A800
O SUSRIZHL ZH| YR(HAE)
AF 2,000,002 - JI& 3,000,008 = A1,000
202 01t 31,464 33,120 A1,656
31,464 33,120 ~1,656( 01 2LHOTHI A1,656
O HSXRIALH AZDRES(0AR2)
2F 974,008 - IR 1,600,0008 = £626
O SYFIR WSS (AR
2F 10,570,008 - JIE 11,600,0008 = A1,030
401 AlEHIZ 2 THH| 34,571 43,000 £8,429
34,571 43,000 £8,429(01 Al&H| £8,429
O 283 A OV &X(HaE)
2R 27,371,008 - JIE 40,000,000 = A12,629
() FHASIB S (CCTV)HE M &3
300,00020 * 144 = 4,200
AN OHIE(EXHE 2SS SBE) 2,985,765 1,642,195 1,343,570




N unsS#HE
ooNE OF
S FRAIE EhelH )
S X Akod Off A oK Hn=2 s E 2
ol Hidl 2,985,765 1,642,195 1,343,570
801 ofldlbl 2,982,765 1,639,195 1,343,570
2,982,765 1,639,195 1,343,570 01 Ol HI] 1,343,570
O F=x& 84X 29 byl
182,765,0002 - J|& 39,195,000 = 143,570
O =xt
&3 ,000& - J|& 1,600,000,000& = 1,200,000




